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Q1. Let's play a game. We will all run. And we will see who comes first. (Turn these
sentences into a single simple sentence)

A. Let's run and see who comes first

B. The game is to run to see who comes first

C. Let's play a game of running to see who comes first.
D. If we play a game, we will run to see who comes first.

Q2. The two friends appear to have fallen over a minor issue. (Select
the correct option)

A. down B. out C.into D. none
Q3. Sheis weaker of the two sisters. (Select the correct option)

A.a B. the C.an D. no article

(Q 4-5) Study the following data and answer the questions:

J, K, L, M, N, O and P are sitting in a straight line. Some of them are facing south and others
are facing north. All the given information is not necessarily in the same order.

M sits second to the right of N, who sits at one of the extreme ends and both are facing the
same direction. J sits fourth to the left of K. J is not an immediate neighbour of M. O sits third
to the left of P. P is an immediate neighbour of M. K sits third to the right of L. O faces the
same direction of P but opposite to J. More than three persons are facing north.

Q4. Which of the following statements is/are true?

i. N and O are sitting at the extreme ends
ii. J sits immediate left of L
ii. N faces south ,
A. Only iandii B.Onlyiiandiii C.Onlyiandiii D.All of the above

Q5. Which of the following pairs is adjacent to each other?
A. LM BJP CKP DLP

Q6.NIRF stands for National Institutional Raking Frameworks. What is the ranking of IIT
Tirupati in NIRF ranking 20227

A. 56 B.26 C.36 D.None

Q7. Two equations (1) and (Il) are given. You have to solve both the equations and give
answer.

|.6x?-13x-44= 0

II. 4y2 - 17y -42= 0

A x>y B.x=<y C.Eitherxzyor x<y D. No relation

Q8. The synonym of loquacious is
A. talkkative B.thirsty C. beautiful D.complicated

Q9. A train overtakes two persons walking along a railway track. The first person walks at
4.5 km/hr and the other walks at 5.4km/hr. The train needs 8.4 and 8.5 seconds respectively



to overtake them. What is the speed of the train if both the persons are walking in the same
direction as the train?
A. 81 km/hr B. 46 km/hr C. 88 km/hr D. 62 km/hr

(Q10-12): Study the table given below and answer the following questions.
Table shows the number of girls in 5 different School (Modal School, DPS School, Chaitanya
School, DAV School & KV School) and ratio of boys & girls in these schools.

School Name No. of Girls Ratio of Boys to Girls
Modal School 720 11:9
DPS School 540 3.2
Chaitanya Scool | 270 T3
DAV School 576 13:12
| KV School 1350 87

Q10. Find ratio of boys in Modal School & KV School together to boys in DPS School &
Chaitanya together.
A 3:5 B.11:14 C.8:.9 D1:2

Q11. Average number of girls in DPS School, Chaitanya School & DAV School is what
percent of average number of students in school — Modal School & DAV School?
A. 50% B.15% C.35% D. None of the above.

Q12. Students in school — DPS School are how much more than girls in school — KV School
and boys in the school — DAV School together?
A. 388 B. 382 C. 394 D. 374

Q13. Inordinate (Select the nearest opposite of the word/phrase).
A. distant B. facile C. moderate D. attractive

Q14. Which of the following is/ are not the Powers of Election Commission?
A. Acting as a court to settle disputes concerning the granting of recognition to
political parties
B. Advising the President on matters concerning the disqualification of MPs
C. Requesting the Governor or the President for requisitioning the staff required for
conducting elections
D. Appointment of Regional Commissioners

Q15. What is the rank of India in Global Innovation Index 20227
A40 B41 C42 D43

(Q 16-18) Study the following information and answer the questions given below:
IIT Admin has exactly nine employees: Kiran, Usha, Saritha, Maya, Rinku, Gudia, Rubi,
Geetha, and Sangeetha.
I.  Gudia’s salary is greater than both Maya’s and Rubi’s.
II.  Rubi’s salary is greater than Sangeetha’s.
Ill.  Maya’s salary is greater than Kiran’s.
IV.  Kiran’s salary is greater than Geetha'’s.



V. Geetha's salary is greater than Usha's.
VI. Usha's salary is greater than Rinku's.
VII.  Rinku’s salary is greater than Saritha’s.

Q16. Which one of the following employees cannot have the third highest salary?
A. Kiran

B. Maya

C. Rubi

D. Geetha

Q17. If Geetha and Sangeetha earn the same salary, at least how many of the
employees must have lower salaries than Rubi?

A3

B. 4

C. 5

D. 6

Q18. The salary rankings of each of the nine employees could be completely determined
if which one of the following statements were true?

A. Rubi’s salary is greater than Kiran’s.

B. Rubi's salary is greater than Maya’s.

C. Sangeetha’s salary is greater than Kiran'’s.

D. Sangeetha’s salary is greater than Maya’s.

Q19. Mangal Pandey was a Sepoy at?
A. Royal Gorkha Rifle B. Sikh Regiment
C. UP Regiment D.34" Bengal National Infantry

Q20. Consider the following Indian states: ,

1. Nagaland 2. Manipur 3. Mizoram 4. Sikkim 5. Meghalaya . .
Which of the above have borders with Assam?
A.1,2and5o0nly B.1,2,3and5onlyC. 3,4 and 5 only D.1,2,3,4and 5

Q21. The boys were forbidden to re-enter the cinema. They

(keep) their ticket stubs. (Select the correct option.)

A. could have kept B. oughtto keep C. should have kept D. must have kept

Q22. Select the word with the correct spelling.
A. Osteoporosis B. Ostopororis C. Ostioporrosis D.Ostoporosis

Q23. In a family of three generations there are eight members. How many married couples
are there in the family.
i. Cis son of A. D is sibling of C and has only one son. G is grandson of B
ii. F has no siblings. H is daughter in law of F. A is sibling of E
iii. B is sister-in-law of E has no siblings. F is brother-in-law of C
The data in i and ii is sufficient to answer the question.
The data in i and iii is sufficient to answer the question.
The data in i, i and iii is sufficient to answer the question.
The data in ii and iii is sufficient to answer the question.

oow>

Q24. Eight friends P,Q,R,S, T, U, V and W are sitting in a straight line, all facing the North. U
is sitting between S and V. Q is sitting between W and P. T is third to the left of V, who is



sitting at one of the corners. W is third to the left of R. How many persons are sitting
between P and T?
A1 B.2 C.3 D.4
Q25. What is the currency of Peru?
A. Nuevo Sol B.Dalasi C. Escudo D. Cruzado

Q26. Prof. Dutta had ¥ 23,000. He invested some amount in scheme A at S| at 20% and the
remaining amount in scheme B at Cl at 10%. If Prof. Dutta got the same amount from both of
them at the end of one year, how much (in %) did he invest in scheme B ?

A.%10000 B.%11000 C.211500 D. 212000
Q27. % 6100 was partly invested in Scheme A at 10% pa compound interest (compounded
annually) for 2 years and partly in Scheme B at 10% pa simple interest for 4 years. Both the
schemes earn equal interests. How much was invested in Scheme A ?
A. 3750 B. %4500 C. %4000 D. ¥3250

Q28. An alloy of aluminium, copper and Iron contains 85% aluminium, 8% copper and 7%
iron. A second alloy of aluminium and iron meited with the first and the mixture then contains
75% aluminium, 5% copper and 20% iron. Find the percentage of aluminium in the second
alloy

A. 49.4% B. 58.33% C.53.75% D. 62.6%

Q29. Sant Tukaram was a 17" century Hindu Sant. He was from
A. Orrisa B.Bihar C. Jharkhand D.Maharashtra

Q30. The theme for the 17" meeting of the Group of Twenty (G20) countries
A. Recover Together, Recover Stronger B.Recover Together, Move forward
C. Help others & Recover Together D.None

Q31. Singular of graffiti is

A. Graffito B. graffitum C.graff D.None of the Above
Q32. Statements: N >M 2L <K; O=S2T=N
Conclusion:
i. O>K
i. Kz0
A. If only conclusion i follows B.If only conclusion ii follows

C. If either conclusion i or ii follows D.If both conclusions i and ii follows
Q33. A queer fish
A. A strange man B. A star fish C. A fish of unique type D.None of the above

Q34.The officer demanded that the suspect . (Select the correct option.)
A. should stop running B. has to stop running C. stop running D.stopped running

Q35. In how many different ways can the letters of the word “Thoughts” be arranged in such
a way that the vowels always come together?
A.2620ways B. 2420 ways C. 2520 ways D. 2320 ways

Q36. Azad invested Rs 55000 in a cosmetic shop for the whole year. After 4 months of Azad,
Hind joined him and invested Rs 70000. Next year Azad invested Rs 10000 more and Hind
withdrew Rs 10000 and at the end of two years profit earned by Azad is Rs 32375. Find the
total profit if they distributed half of the total profit equally and rest in the ratio of the investment.
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A. Rs 89600 B.Rs 75600 C.Rs 52800 D.Rs 62900

Q37. Wiis the father of O. A is the only daughter of D. V is the mother-in-law of W who is the
only son of K. S is the daughter of Y who is the father-in-law of D. V is the maternal
grandmother of A. D and S are of same gender. O is the nephew of S. D does not have any
siblings where only eight members are there in the family.
Which of the following is true?

A. O isthe brother of K B. O and A are siblings

C. D is the sister of Y D. Sis the brother-in-law of W

Q38. What is the pH value of seawater?
A. Lessthan2 B. Morethan 10 C. Between 4to 6 D.None

Q39. A few conclusions are drawn from two or more given statements. It is based on
deductive reasoning rather than inductive reasoning. You have to consider the given
statements to be true, even if they are different from established facts and accordingly
choose the right answer.

Statements: 1) No square is a triangle
Il) All triangles are circles
i1l) Some rectangles are squares
IV) Some circles are rectangles

Conclusion: i) No square is a circle
ii) All rectangles being triangles is a possibility
iii) All circles being squares is a possibility
A. Only conclusions i follows B. All conclusions follows
C. Only conclusion iii follows D. None of the conclusions fol!ow

Q40. SATAT scheme related to which ministry of India?
A. Ministry of Jal Shakti B. Ministry of Education
C. Ministry of Minority D. Ministry of Petroleum and Natural Gas

Q41. Four word-pairs have been given, out of which three are alike in some manner and one
is different. Select the odd one.

A. Warm: Tepid

B. Intelligent: Smart

C. Active: Lifeless

D. Cold: Chill

Q42. Which of the following is the mirror image of the below shown figure?

ZN
N




N
N
DN
N
LD
N
LN
N

Q43. T>I<V; Q<X<I>U; B<O<Q
Conclusions:
i. T>B
ii. Q=U
iii. V>B
A. Only conclusion i is true B. Only conclusion iii is true
C. Both conclusions ii and iii are true D.Both conclusions i and iii are true

Q44. Scrooges are able to make more money than the ones who are spendthrifts (Select
the opposite of the word in Bold)
A. Miser B.extravagant C. mean D. deferential

Q45. Choose the alternative which best expresses the meaning of the idiom/phrase - To be
all at sea

A. A family voyage B. Lost and confused

C.In the middle of the ocean D. A string of islands



Q46. Present ages of Sameer and Anand are in the ratio of 5: 4 respectively. Three years
hence, the ratio of their ages will become 11 : 9 respectively. What is Anand's present age in
years?

A. 24 B. 27 C. 40 D. 45

Q47. A motorboat travels 16 km in 2 hours against the flow of river and travels next 8 km
along the flow of the river in 20 minutes. How long will it take motorboat to travel 48 km in
still water?

A. 2.5 hours B.3 hours - C.3.5hours D. 4 hours

Q48. Zauri Bridge was recently in news. Itis in the State/UT of
A. Adman B.Goa C. Karnatka D.Mizoram

Q49. Kuno National Park is in .
A. Maharashtra B. Madhya Pradesh C. Uttar Pradesh D. Assam

Q50. The biggest arch dam in India is built on which river?
A. Periyar B.Mahanadi C. Sutlej D. Bhagirathi

Q51. Choose the alternative which best expresses the meaning of the idiom/phrase - To
doctor the accounts.

to make changes in account books
to clear the doctors’ bill

to verify the accounts in detail

to manipulate the accounts

oW

Q52.1332 +36 x 23 +287 -189="7 B
A. 1029 B. 988 C. 850 D. 949

Q53. Surabhi wants to spend Rs. 200 on two types of sweets, costing Rs. 7 and Rs. 10
respectively. What is the maximum number of sweets he can get so that no money is left
over?

A. 25

B. 26

C. 27

D. 28

Q54. The mode and mean is given by 7 and 8, respectively. Then the median is:
A.1/13

B.13/3

C. 23/3

D. 33

Q55. In a certain code language

‘demand of People’ is written as ‘vgs naz pma’
‘Hand demand write’ is written as ‘jhr vgs zqg’
‘People from demand’ is written as ‘xvb pma vgs’
‘Hand over demand’ is written as ‘max vgs zqg’
The code word for demand is

A. pma

B. vgs



C. naz
D. xvb

Q56. How many terms are there in the G.P. 3, 6, 12, 24, ..., 3847
A. 8 B.9 C. 10 D.7

Q57. Study the following information and answer the question given below
X#Y means X is the father of Y

X+Y means X is the mother of Y

X$Y means X is the husband of Y

X%Y means X is the wife of Y

X@Y means X is the brother of Y

X£Y means X is the sister of Y

X©Y means X is the son of Y

XmY means X is the daughter of Y

What should come in the place of question mark to establish that T is the aunt of O in the
expression
OmMP?QOR#S?T

A $ % B.@# C.#@ D.%,$

Q58. The NEP -2020, has recommended to setup national Assessment PARAKH centre as a
standard setting body. What does PARAKH stand for?
A. Personal Assessment, Revaluation and Analysis for knowledge for Holistic
Development
B. Performance Assessment, Rating and Analysis for Knowledge for Holistic
Development
C. Preparing Analytical Reports for Assessing Knowledge for Holistic Development
D. Performance Assessment, Review and Analysis of Knowledge for Holistic
Development

Q59. Given below are four jumbled sentences. Out of the given options pick the one that
gives their correct order.
A. Early on Christmas morning Julie returns to the graveyard with the file, a cake and wine.
B. On Christmas Eve, Julie an orphan who is about seven years old, encounters and
escaped convict in the village graveyard.
C. The convict scares Julie into stealing food and a file.
D. Julie, who lives with her husband Joel Gomes, a blacksmith, steals a file and some food.
A. BCDA
B. CBAD
C. BDCA
D. DCAB

Q60. Which of the following represents the dimensional formula of Universal Gravitational
Constant?
A. M'L’T? B.M'L'T? C.M'L’T? D.M'L’T?

Q61. ‘Lion’ is related to pride in the same way ‘Monkey’ is related to
A. Troop B.Den C.Sloth D.Herd



Q62. In the word ‘BROCHURE, first all the letters are written in alphabetical order form, then
remove all the vowels from the arrangement then how many such pair/pairs of letters are
there, each of which have as many letters between them in the word (forward direction) as
they have between them in the English alphabetic series?

A.1 B2 C.3 D.O

Q63. Dholavira and Ramappa temple are included in the list of UNESCO world Heritage
sites in 2021. Ramappa temple is in the state of Telangana and Dholavira is in the state of
A. Tamilnadu B. Mizoram  C. Maharashtra D. Gujrat

Q64. Who is crowned with Miss Universe 20227
A. Bonney Rai B. Harnaaz Bonney Gabriel
C. R’'Bonney Gabriel D.Andreina Gabriel

Q65. Find the synonyms for the Sanguine
A. Hopeful B.Cruel C. Good for health D. Scornful remarks

(Q66-70)Population Abstract of a few Indian States (only for solving questions) is tabulated
below:

State Total Rural: Male: Literate: % of
Population | Urban Female lliterate Graduate out
of Literate

Maharashtra 2250000 28:17 23:22 5:3 48
Madhya 1642000 5:3 [of5] 3:1 35
Pradesh

Orissa 1136000 11:5 9:7 11:5 38

West Bengal 2480000 18:13 21:19 20:1..1. 42

Tamil Naidu 2050000 16:9 13:12 3:2 56
Uttarakhand 248000 5:3 9.7 31 44
Jharkhand 960000 177 11:9 4:1 32

66. What is the urban population of Maharashtra and Orissa together?
A.1205000 B.1208000 C.1209000 D. None

67. Approximately by what percentage is the urban population of Maharashtra less than its
rural population?
A. 33% B. 39% C. 45% D. 34%

68. What is the difference between no. of graduation from Madhya Pradesh and
Uttarakhand?
A. 366340 B.349185 C. 388185 D. 382340

69. What is the total no. of graduation from Orissa, West Bengal and Maharashtra together?
A. 1509695 B.1529559 C.1643780 D.1629095

70. What is the ratio between total female population of Tamil Nadu and Jharkhand together
and total male population of Tamil Nadu and Jharkhand together?
A.697:798 B.715:797 C.708:797 D.698:797

Q71. Which of the following country won the recent FIFA 2022 world cup?
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A. France B. Argentina C. England D. Portugal

Q72. Ratio of time taken by Swetha and Ranjitha to complete a work is 1:4 respectively.
Swetha and Ranjitha start working together to complete the same work. They completed the
work and received total sum of the wages Rs. 7450. Swetha and Ranjitha divided the wages
in proportion of their work. What is the share of Ranjtha?

A. Rs. 1420 B. Rs. 5960 C. Data insufficient D. Rs.1490

Q73. Laxami invested Rs. (K + 1300} in simple interest at the rate of 24% per annum for 5
years and Vishnu invested Rs. K in compound interest at rate of 25% per annum for 2 years.
If the interest received by Laxami is Rs. 3600 more than the interest received by Vishnu.
Find the value of K?

A. Rs 4500 B.Rs.3200 C.Rs.4000 D. None

Q74. Choose the most suitable alternative in accordance with the comrect use of tense.
A. Rohan just had his dinner. B. Rohan has just had his dinner.
C. Rohan just had eaten his dinner. D.Rohan just has had eaten his dinner.

Q75. Quinine tastes bitter. (Change the Voice.)

A. Quinine is bitter when it is tasted. B.Bitter is Quinine’s taste.
C.Taste of Quinine is bitter. D.Quinine tastes bitter.

Q76. Consider the following statements:
1. National Law Day is observed on November 24 in India.
2. 102" amendment of the Indian Constitution is related to National Commission for
Backward Classes.

Which of the statements given above is/are correct?
A. 1only B.2only C.Both1and2 D. Neither 1 nor 2,

Q77. Choose the odd one from the following options:
A. Stupid B. dull-wit C. mindless D. Unkind

(Q78-79). Study the information carefully and answer the questions given below.

Seven Persons T, U, V, W, X, Y, Z are sitting according to their marks scored in the
examination in descending order from left to right but not necessarily in the same order. V
scored more than only one person. T scored less than Y but more than Z. U scored less than
Z. U does not scored the least. W scored more than X but less than U. The one who scored
the least got 55 marks and the one who scored the third highest got 89 marks.

78.What may be the possible marks scored by W?
A. 48 B.96 C. 95 D.73

79. Who among the following scored the highest?
AT BZ CY DU

Q80. My sister is four years_____ tome.
A. Older B.elder C.old D. None of the above

Q81. Egypt President was Chief Guest of 74" Republic Day Celebration. Egypt border
touches with

A. Libya, Israel, Sudan B. Syria, Sudan, Libya

C. Libya, Syria, Israel D. Sudan, Libya, Chad
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Q82. If IMHO=JNIP; IDK=JEL; and SO=TP, then IDC= ......
A. JDE B. JED C.JDC D.JCD

Q83. Directions: In the question below, a statement is given depecting an issue or a
problem. You have to assume everything in the statement to be true even if they are at
variance from commonly known facts, and on the basis of the information given in the
statement, answer the question that follows

Statement: Our economy, people’s health and mental anxiety will continue until the
vaccination programme is completed. We should aim to finish the vaccination in six months
instead of two years. For this, we need to increase the current pace to four times the current
levels, or to 8 crore doses/ week.

Course of action:

i. Securing the supply of the vaccines from the indigenous suppliers and stop exporting
vaccines.

ii. Approve more vaccines from around the world and have more manufacturing facilities

to increase the availability of the vaccine

iii. Every private hospital, dispensary and healthcare centre should be allowed to
administer the vaccine to increase the vaccinators.

A. Only course of action ii and iii follow
B. Only course of action i and ii follow

C. Only course of action i and iii follow
D. Alli,ii and iii follow

Q84. Hard work tells one’s health. (Select the correct option.)
A. On B.upon C.at D.nto

Q85. Which of the following Article of the Constitution of India deals with the ‘Appointment of
additional and acting Judges’'?

A. Article 132

B. Article 136

C. Article 225

D. Aricle 224

Q86. (12)* x 6* +432="7
A. 5184 B. 5060 C.5148 D. 5084

Q87. In a class of 49 students, the ratio of girls to boys is 4 : 3. If 4-girls leave the class, the
ratio of girls to boys would be
A.11:7 B.87 C. 65 D.9:8

Q88. Complete the series. 95,115.5,138,7,189
A.166.5 B.162.5 C.164.5 D. 160.5

Q89.Find the missing number. 9, 35, 91, 189, 341, ?
A. 559 B. 611 C.521 D. 502

Q90. Find the missing number. 5, 5, 7.5, ?, 37.5, 112.5
A. 15 B. 17 C.17.5 D.125
Q91. Which of the following country is not part of the Exercise Vostok — 20227
A.Laos B. Mangolia C. China D. None

12



Q92. The price of 24 apples is equal to that of 28 oranges. The price of 45 apples and 60
oranges together is Rs. 1350. The total price of 30 apples and 40 oranges is
A. Rs. 940 B. Rs. 900 C. Rs. 920 D. Rs. 880

Q93.Which of the following states is/ are going for elections in the year 2023?
i. Meghalaya
. Nagaland
iii. Madhya Pradesh
iv. Rajasthan
V. Karnataka
A i, iiiiv - B. i, iii, iv C.iijiibv - D.iii,v

Q94. Which of the following is/are newly declared Ramsar sites in India?
i.  Vellode Bird Sanctuary, Tamil Nadu
ii. Koonthankulam Bird Sanctuary, Tamil Nadu
ili.  Ranganathittu Bird Sanctuary, Karnataka
iv.  Vedanthangal Bird Sanctuary, Tamil Nadu

A.idii,iv - By, iv - Clii, i, iv - D. All of the above

Q95. Raman is performing yoga with his head down and legs up. His face is towards the
west. In which direction, will his left hand be ?
A. North B. East C. North-east D. West

Q96. Which of the following is not a fifth-Generation programming language used mainly in
Arificial Intelligence?

A. Prolog
B. COBOL
C. Mercury
D. OPSS

Q97. What is the common name of Sodium Hydroxide (NaOH)?

A. Baking Soda

B. Bleaching Powder

C. Caustic Soda

D. Washing Soda
Q98. PM AASHA is a name of Indian Government Scheme. Second letter A of AASHA stand
for

A. Aay
B. Atamnirbhar
C. Aam
D. Adhikar
Q99. 632323 + 454545 — 757575 - 157866 = ?
A. 187548 B. 174578 C. 171427 D. 172787
Q100. What they are doing is just journalism. They have no ethics.
A. yellow
B. violet
C. green
D. red
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